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JERRH R X 1 99, 661, 318
HEELT = 1 70, 016, 545
HRHEI T = 1 9,283,392 |#HI 19, 160 m3
o =7 iy EEM 5, 000m3LL E
FHIA O-27) 19, 200 m3
+1 &850, 000m3LL L ;
P T (ICT) =Y 1 21, 706, 250 |4 H!I (ICT) 11, 500 m3
W A7 vy b BEESE L 10, 000m3 LA 50, 000m
AT ;
L TE AL 11, 500 m3
A A K 30kg/m3 ;
PEHI L (ICT) = 1 591, 680 | HHEH! (ICT) 430 m3
w0 FrEidEE
FHIA Ob-27) 430 m3
+1 &850, 000m3LL L ;
PEHI L (ICT) = 1 176, 705 | #EHI (ICT) 590 m3
W A7 vhyh BEESE L 10, 000m3 LA 50, 000m
AT ;
PEHI L (ICT) = 1 8,985 |#EHI(ICT) 30 m3
W A7 iy b BEESE L 10, 000m3 LA 50, 000m
AT ;
BEARRSE AT = 1 408,928 | B&A (L) B+ 70 m3
2. 5mAT ;
EuNE R 30 m3
2. 5mPh 4. OmATw ;
BEARRSE AT = 1 692,064 | BRIA (L) RE 1+ 120 m3
2. 5mAT ;
EuNE R 40 m3
2. 5mPh 4. OmATw ;
BEARRSE AT = 1 842,986 | B&{A (St hE 1+ 90 m3
2. 5mAT ;
BEAAR (FLEE) o 1 110 m3
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2. 5mPh 4. OmATw ;
FHIA Ob-27) 190 m3
+1 &850, 000m3LL L ;
b 190 m3
0 Cadl- EHIRY £5T) ;
AR T (ICT) =X 1 30,120 | B&IR (BEER) B% L (ICT) 120 m3
AR T (ICT) =X 1 3,327,740 | BEIA (FL82) K 1= (ICT) 1,900 m3
FHIA Ob-27) 2,100 m3
+1 &850, 000m3LL L ;
b 2,070 m3
0 Cadl- EHIRY £5T) ;
BRE LT = 1 1,259,694 | KR 200 m3
2. 5mAT ;
IR R 1 120 m3
2. 5mPh 4. OmASTw ;
FHIA Ob-27) 30 m3
+1 &850, 000m3LL L ;
b 30 m3
0 Cadl- EHIRY £5T) ;
BRE LT = 1 275,021 | BRI 30 m3
2. 5mAT ;
IR R 1 130 m3
2. 5mPL 4. OmATi ;
BRE LT = 1 348,650 | HEERE T 50 m3
2. 5mAT ;
FHIA Ob-27) 50 m3
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b 50 m3
0 Cadl- EHIRY £5T) ;
AR AT (ICT) = 1 38,378 | BEAREE L (ICT) 30 m3
FHIA Ob-27) 20 m3
+1 &850, 000m3LL L ;
b S S 20 m3
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0 Cabl- EHIRY £5Te) ;
AT (ICT) = 598, 790 | BEIRE% 1 (ICT) 400 m3
FHIA Ob-27) 330 m3
+1 &850, 000m3LL L ;
b 330 m3
0 Cadl- EHIRY £5T) ;
AT (ICT) = 2,396, 380 | &R L (TICT) 1, 300 m3
FHIA Ob-27) 1, 400 m3
+1 &850, 000m3LL L ;
b 1, 400 m3
0 Cadl- EHIRY £5T) ;
EEEEIE T (ICT) = 1,559,520 |{EmEEETE (G)LH) (ICT) 600 m2
VY = WD R OWHE = CREPE L
TEHEFETE (8] 1356) (ICT) 1, 020 m2
AT
BT T (ICT) = 479,631 | IEMEFETE (8] 1356) (ICT) 240 m2
VY = WD R OWHE = CREPEE
BRI (B 1356) (ICT) 510 m2
ELikiE O L ;
EEEEIE T (ICT) = 427,087 | IEMEFETE (8] 1356) (ICT) 210 m2
VY = WD R OWHE = CREPE L
BRI (B 1356) (ICT) 460 m2
ELiHkEE O L ;
EEEEIE T (ICT) = 372,740 |{EMEEETE (G) L) (ICT) 20 m2
VY = WD R OWHE = CREPE L
BRI (B 1356) (ICT) 660 m2
ELiHkEE O L ;
552 7)) =X 2,308,674 |3EV avy)-} 116 m
G netii9)
18-8-25 (20) (®JF) av))-MEEEHE
CEUEVZAR 241 m
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BHEy )~} = 1 2,491,228 |3V 2v))-} 140 m
(B0 1=58)
18-8-25 (20) (®JF) av))-MEEEHE
GEUEVZUR 246 m
(B 1=58)
18-8-25 (20) (&) av))-MEMEHE ;
BHEy 7)) = 1 368,528 |HE YD av))-} 38 m
(B0 1=58)
18-8-25 (20) (®JF) av))-MEEIEHE
GEUEVZUR 20 m
(B 1=58)
18-8-25 (20) (&) av))-MEMEHE ;
P ALER T 2 1 20, 023, 374 | F&A (V-27) 11, 500 m3
+a> +850, 000m3LL L ;
A 11, 500 m3
b CESE- ERIR Y £5T)
A 19, 160 m3
0
L 2 1 991, 740
faEAET 2 1 956, 280 | fE A FLAF IR A 130 m2
Sem AEARFEBAWRAT T 100m2 2L F250m2 A0 ;
fliAE T = 1 35,460 | FH-{- A 90 m2
REBHEE L 100m2A0 ;
LT 2 1 10, 487, 711
TAT 7 M A T 2 1 3,106, 149 | /@K% (FHIE - E ) 740 m2
BA)T9v4=77 RC-40 £ EY/E 100mm ;
R (HEGE - BRI ) 730 m2
R R EEIRE A RM-40 £ BV JE 100mm ;
g (I - BIF ) 730 m2
TR BT A2y (20) AHZEE 50mm 1. dmASl;
(184 v S v JE50mmEd )
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TA7 7 Ml T X 1 4,883,590 | T (HIE - BIE ) 1,150 m2
HAITyvv-77 RC-40 fL V& 100mm ;
R (HEGE - BRI ) 1,150 m2
AR EE A RM-40 £ Y E 100mm ;
g (I - BIF ) 1,150 m2
FAEBRIEET A2/ (20) AHIEE 50mm 1. 4mAST
(184 v ¥t v JE50mmEd T)
TA7 7 M2 T = 1 2,299,371 | FIEMa (i - BEE) 691 m2
BHAITyvv-77 RC-40 fL LV JE 100mm ;
R (HEE - BRI ) 691 m2
AR A RM-40 /£ Y E 100mm ;
g (I - BIF ) 691 m2
FAEBRIEET A2/ (20) AHMEE 50mm 3. Omid ;
7)) = hE%E T E2V 1 128,301 | /@ Hs#Z (d3H - BIFEE) 32 m2
BHAITyvv-77 RC-40 fL V& 100mm ;
2 - M2 32 m2
18-8-25(20) &HZE/E100mm ;
7)) - hE%E T E2V 1 70,300 | FJEHAE (HHE - BEIFEE) 17 m2
BHAITyvv-77 RC-40 fL V& 100mm ;
2 - M % 17 m2
18-8-25(20) &HZE/E100mm ;
HEKHEEY T = 1 9, 109, 288
E¥+T X 1 420, 148 | FRAE Y (EHD 1 X
o
i 1 X
+4)
HEL 1 X
HmEEE 1 =X
FEHA O-27) 1 =X
W) S TR ImPL E2mA T
T wb AT 1 =X
E
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EELT = 174,412 |FRYE D 1 X
+4)
HEL 1 2V
HmEE 1 =K
EELT = 274,854 |FRIEY 1 X
+4)
i 1 X
+4)
HEL 1 2V
HEL 1 2V
HmEE 1 =K
EELT = 48,955 | FRHE Y 1 X
+4)
HEL 1 2V
HmEEE 1 =X
FHIA (=27) 1 =X
+1 &850, 000m3LL L ;
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
1RI3E T = 759, 451 | 7° VA bURLITE 77 m
PU1-B300-H300 ;
AR T = 1,651,940 |7 VEyANUBMRNE 122 m
LA 300X 300 ;
7" Vv A NUBRMAITE: 3 m
EZ % (BEWT ) 300300
1RI3E T = 552,328 | 7" VF¢AbURLITE 56 m
PU1-B300-H300 ;
AR T = 1,474, 360 |7 VEyANUBLRNE 124 m
PEZTE 300X 300 ;
BT B0 865, 730 | ta-b (BILAE) g m
SAEEIRE ¢ 300 ;
KSR K 10 m
PEfF EAE 200~400mm VU200 ;
BRfpia ) b 11 n
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HEJF® 3007 ;
k) -MEfHE
HEJFE®E 7008

12 m

AR v T

125, 860

BGHT K
BGFTHS 18-8-25 (F4F)
X 500X 500 ;

BGHT K
BISHTHS 18-8-25 (k)
X 500X 500 ;

TR 2E A R4

TR 2E A R4

500

500

AR v T

153, 720

BUGFT HAE K
BIEFTHS 18-8-25 (F47)
X 500X 500 ;

TR 2E A R4

500

AR v T

407, 030

BUGFT HAE K

(G1)

BGFTHS 18-8-25 (F4F)

X 500X 600 ;
BUGFT HAE K

(G2)

BGFTHS 18-8-25 (F4F)

X 500X 500 ;
BUGFT HAE K

(G2)

BGFTHS 18-8-25 (F4F)

X 500X 600 ;
BUGFT HAE K

(G2)

BGFTHS 18-8-25 (F4F)

X 500X 600 ;
BUGFT HAE K

(G2)

BGFTHS 18-8-25 (F4F)

X 1200 1000 ;
BUGFT HAE K

(G2)

TR 2E A R4

TR 2E A R4

TR 2E A R4

TR 2EA R4

TR 2EA R4

500

500

500

500
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BGFTHT 18-8-25 (kF) 1M EEMIESE 700
X 700X 1000 ;
ES 1 HH
2/ -b 25500 X 500 (255E))
e 4 1]
W300 ¢ 19 ;
HEk L Y 1 2,200,500 |/NERHEK 75 m
(D
PU1-B300-H300 ;
[CZEHN Y 1 203, 346
oL Y 1 203,346 | 7AN-7" 158 m
AR EEY A2/ (13)  195em2Lh F215em2Ai ;
BT T = 1 693, 275
BRARI B A T =Y 1 693,275 |BBEIFD - vrERE 56 m
G i E R 23. 04 t
X R T = 1 314, 223
X R T = 1 207,180 | FR =N X iR 600 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE
X R T = 1 107,043 | ¥a =R mi#R 310 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE
HEYE T Y 1 2,763,190
s EEE L T Y 1 69,279 |2V -MEE W EUE L 2 m3
MEAHRETEY) FEMOE T
A IR A 270 m2
TAT7 MR BEERRE 15emlLF
S EEE L T Y 1 567,270 |av))-ME&EWEEE L 41 m3
MEARETEY) FEOE T
SR DI 330 m
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TAT 7V MEHEERR 15emPA T
T LE RS A 120 m2
TAT7WMEHZERR EZERUE 16emPA T
W EE LT it 1 355,534 |2/ - MM L 12 m3
A EY) BhkE T
ERZE R LD 170 m
/) )= M2 15emPA T
T LE RS A 280 m2
a9 ) - MR SHZERRE 16emPL T
e LT it 1 541,327 |2/ - M L 52 m3
MRS BhkE T
SR G0 33 m
TAT 7V MEHEERR 15emPA T
T LE RS A 61 m2
) ) -MEHEERR SHZERRE 16emEL T
T LE RS A 470 m2
TAT7WMEHZERR EZERUE 16emPA T
TR AL T = 1 111,091 |BGEHE 2 m3
av))-bik (BER%)
e 13 m3
TAT 7V MR (2. 35t/m3)
By 2 m3
vy )= hik (BEAR)
By 13 m3
TA77 VMR (2. 35t/m3) ;
TR AL T = 1 292,095 | BoE M 41 m3
vy )= hik (BEAR)
IR 6 m3
72770 MIEEIEE (2. 35t/m3) ;
By 41 m3
vy )= hik (BEAR)
By 6 m3
TAT 7 MIERHEIR (2. 35t/m3)
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FEHE NGERE
THE4 | BR4 9 7 5EHMXE TH
= S N O A | B Az ¥ = & #A #m il N BN
TE LB T =Y 1 285, 496 | BoE M 12 m3
/) -k (BERR)
B 28 m3
ay) )bk (IR
RISy 40 m3
20—k (SRR
TE LB T =Y 1 541,098 | BGEHR 52 m3
/) -k (BERR)
X 6 m3
/) -k (BERR)
B 24 m3
TAT 7V MIRHEIR (2. 35t/m3)
RISy 58 m3
/) -k (BERR)
RISy 24 m3
TA77 VN EE R (2. 35t/m3)
T = 1 5, 082, 000
AEEHE T Y 1 5,082, 000 |AZW kB Ym 5 1 =
[ERAE Xy = 1 99, 661, 318
IR 2 1 46, 251, 225
Hom it = 1 35,951, 225
TE = 1 1,419, 300 | EEELERAR ) AR N s 2 1 =
Hefif & 2 1 32,250,000 | ARARSELLS 2 1 2
e sy 2 1 1,301,925 |{R5FEHL(ICT) 1 =
YATLIE 2 (ICT) 1 2V
B R AT -MERE 1 =

o - FASGBE ST
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BUGBREIUEL (REH L) 2V 980, 000
sty (R L) 2V 10, 300, 000
R e 2V 145,912, 543
e R 2V 38, 175, 000
T AT X 184, 087, 543
— e PR 2V 25,992, 457
N 2V 210, 080, 000
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